equations:

HATT GE Practice

1. Make an augmented matrix from the system of

doe —z2=17

8r+by—z=0
—x—y+52=6

solve a system of equations:

4 0 —-1|7
8 5 —110
-1 -1 516

swap 11 <> 73.

Rl = —17"1

R2 = — — 87"1 —+ 79
Rs = —4ri +1r3
Rg = —%7‘2

R3 =4ry + 13

R3 = —%Tg

Name:

3. Find z,y, z by substitution

4. Find z,y, z by doing the following:

2. Consider the augmented matrix that was used to

R2 = 13T3 —+ 1o
Ry =5rs+m
Ri=—-1ra+7m

5. Consider the dependent system:

r—2y—2=28
20 -3y +2=123
4x — by + bz =53

6. Consider the inconsistent system:

20 +y—2=2
T+2y—2=-9
r—4y+z=1



